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Tén: Ngay thang: Diém:
32x° — 24x% — 4x 35x% — 8 — 16

dx

43 + 36x2% + 16x
4x

2002 — 3622 — 36x
4x

8 + 312 — 10x — 24
x+4

1453 — 4222 — 63x
Tx

Tx+ 4

28x3 — 21x% — 28x
Tx

43 + 14x% — 28x — 45
2x+9

36x° — 42 — 4x
4x

493 + 492 + 17x+ 5
Tx+5
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Phép chia Da thtic

Tén:
3200 — 24x° — 4x
4x
8x? — 6x—1

4 + 36x% + 16x

4x
X+ 9x+4

20x° — 36 — 36x

dx
5¢—9x—9

8 + 312 — 10x — 24
x+4
8% —x—6

14x° — 42x% — 63x

Tx
2% — 6x—9

Ngay thang: Diém:
35x2 — 8x — 16
Tx+ 4
5x—4

28x° — 2127 — 28x

Tx
4" —3x—4

43 + 14x%* — 28x — 45

2x+9
2> —2x—5

36x° — 4% — 4x
4x
9x2 -x—1

493 + 492 + 17x+ 5
Tx+5
T 4+ 2x+ 1
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